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107 Equivalent resistance

Determine the equivalent resistance of the illustrated resistor
combination.
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108 Resistors in series and parallel

Determine the currents through, voltages across and
the power dissipated by each resistor in the illustrated

circuit.
Lobel  the wrnts o5 llushaled Ty =
MOL& 'ie{ﬂi Il = Tz+jg

Label the veltages as jllushakeed

Then AV,=AV,  od  AV)s AVes 14V

We ¢ get T, ﬂoa R‘nmg an equuvalat sStznee  ond umg_
AV:IR%/ =p MV = I, R%-
W; %@L Rec’/ ) ] |
4 2R Ky i
&y =30

So H#e b combinahan  gmonts

ey 441
—p
I _ P =72

laV —— — gV — R%
3JL

Ten AV=T,Rq, = 14V=T1, 7=  T:2.0A

N ow AVi= T R =2 A= 2.0Ax4.00= 8.0V

NOLO AV\JFAV?.-‘- ?4\/ =P AV-A:-é.Ol/ .

39




“Then Ressoe | AV 1 P
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